SLAE[XE] EvYax20167055 L

ENRE R
1 915 |F#—TF=v4 (HERE) = F—7=5
) 9:30 KIS EE 1(3752\/\ A A A A
KIHDIE AT SV
| 2 9:40 | KEAEEBAT #EAE A
IR | 4 9:50 |24 ITHREE B
5 | 1000 |AE= A M
Y| 6 | 1010 |Am— B N
7 | 1020 |mesAm A ,'7
| 8 | 1030 |EREAE B |
cif| 9 | 1040 | BAMAERBEANFv—R9-I | A 5
g% 10 | 10:50 | EUSIAR B 2
=7 | 11 11:00 |BIREEAR A W
12 | 11:10 | ARIEAS B 2%
13 11:20 T < 5 smile A T
14| 11:30 |fIAR *<5 A Lo
BABTARS - 5EA>TOV T b ~
: KTEER 3
| 15| 1140 | BEUB~EATEERBVEE | pm | 4 o ~
m PLY OSAKO | 752, SBE =
C -Bocciolo =] {,;E %
_ x %
16| 1220 | epmmes HESEEAS | © g & <
G e 7
|4 iy =t
17| 1240 |FBERLER s amme | A2 a
| 18 | 1250 | EERBATAEY -7V (B B |
19| 1300 |=AR FERR) A T
P20 | 1310 | EEFERTEFFR B M
| 21 | 1320 | JIERCAR A 0
ed | 22 | 1330 | 2meaek B |
i | 23 13:40 | BELTU—2KE A Ilj
4|24 | 1350 |memizemes B Z
(25 | 1400 |AUfEAIARE m A 5
o | )6 | 1410 |FOAER ELIFPESR B 7
27 | 14:20 | ARBMERH AT A
28 | 1430 |4T=% DAKINE B v ¥ T v
29 14:40 | AREKXE (KADEE) A
30 14:50 | ABXE (T EHDER) A
31 15:00 |#IAXsE T8 (E—hK) B
o 327" 15108 = e KIZESN
| o e S J14F—L
o FIEYKEL - RISESI

O NEFIEE=TFETY



